lm Evaluate trigonometric expressions

Given cos a = % with % < a< 2, find (a) sin 2a and (b) sin g.
Solution
: MULTIPLY AN a. Using a Pythagorean identity gives sina = —%.
! INEQUALITY
: In part (b), you can sin2a = 2sinacos a = 2<—E>(i> =120
: multiply through the 1313 169
i o, 3T
inequality 5 <a<am b. Because % is in QuadrantII, sin % is positive.
fpy 1 3r a
Ebyztoget4<2<7r. /1_75
P d. . a_ [1-—cosa _ 13 _ [4 _2V13
: So, 5 isin Quadrant I1. sin 5 = 5 \ 3 \/; 13

@ETTITE) 1AKs PRACTICE: Multiple Choice

q G . 1 —cos 20,
Which expression is equivalent to n20
@ cos 6 tan 0 @© coto D sin 6

| Solution
1-cos26 _ 1—(1~—2sin’6)
sin 26 2 sin 6 cos 6
_ 2sin® 0
2 sin 0 cos 6

Use double-angle formulas.

Simplify numerator.

= sno Divide out common factor 2 sin 0.
cos 0
=tan 6 Use tangent identity.

| » The correct answer is B. & © ®

\/ GUIDED PRACTICE  for Examples 1,2, and 3

Find the exact value of the expression.

T . b °
1. tan 8 2. sin 3 3. cos 15

V2

4. Givensina ==~ withO<a< g find cos 2a and tan %.
5. Given cosa = —% withm<a< %, find sin 2a and sin %.
Simplify the expression.

cos 26 7 tan 2x
* sin 6+ cos 9 * tanx
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8. sin 2xtan X



